


PART - A
BOTANY
{(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes
{(Questions 1 to 3) : Answer all the questions. Each question carries 1 Score.

Bx1=3)
I. Identify the freshwater fish tram the following :
(a) Sardine {b) Mackerel

(c) Rohu (d) Hilsa

st

n Gel electrophoresis the separated DNA fragments can be visualized after staining.
Name the stain used for it.

3. In a forest ecosystem different plant species are occupied in different vertical levels.
Name such vertical arrangement.

(Questions 4 to 14) : Answer any 9 questions. Each question carries I Scores.
9x2=18)
4. Primate and non-primate female mammals exhibit cyclic changes in the activities of

ovaries and accessory ducts as well as hormones during the reproductive phase. Name
the cyclic changes in these group.

5 Bamboo species and Strobilanthus Kunthiana exhibit usual flowering phenomena.
Explain their flowering characteristics.
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PART - B
ZOOLOGY

(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes

Answer all the following questions from 1 to 3. Each question carries | Score.

Bx1=3)

Number of spermatids produced from 23 primary spermatocyte are
(a) 25 (by 50

{c) 100 (d)y 250

Study the relationship between the first two words and fill the blank space with a

suitable word.
Sterilization in male : Vasectomy

Sterilization in female :

Identity the bacterial disease from the following :

{a) Typhoid (b)) Amoebiasis
{¢) Malaria (d) Filariasis
Answer any 9 from the questions 4-14. Each carries 2 Scores. (9x2=18)

The incidence of STDs are reported more among the age group between |3-24 years.
{a) What are STDs ?

(b)  Suggest methods to prevent STDs.



.

Observe the followin
recessive parent. Answer the following questions.
Ww = W

g cross between heterozygous dominant progeny and homozygous

Wi W
15% 0%

(a) ldentify the cross. =
{b) Mention the significance of this cross.

6. Following diagram shows amino acid sequences of a part of B chain of Haemoglobin of
two individuals. Observe the amino acid sequence and answer the following questions .

2 3 4 5 [ 7
(a) Which among {he above indicates sicklewell anaemic condition ?
(b} Justify your answer.

{¢) Describe what is single base substitution.

7. “Human genome project is a mega project” Give two reasons to explain this,

8 Observe the diagram and answer the tollowing questions

P 1 [#[e] z [r{=] In presence of indwcer

l Transeripiiomn
PN p—s L
Represspr TnRNA lac mRNA :
A B 12
[rliaceT,
{Inaelive repressor]

(a) ldentify the diagram.
(b) Name the enzymes A, Band C.
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